
Monday, Sept. 20, 2021 

Review of Simplifying Radicals 

Consider problem #5 

5)  √72 

 

What question are you asking yourself to simplify any 

radical expression? 

 

Note: √72 
2

≠  √72 
3

≠  √72 
5

  

 

5)  √72 =  √72
2

  (Note: The index is a “2”, or square root 

when it is not shown within the radical symbol) 

 

What question are you asking yourself to simplify any 

radical expression? 

Question: What number multiplied by itself n (index) 

times, gives you the product (radicand = x) under the 

radical? 

√𝑥 
𝑛

 



Examples:  

a) √64 
3

 → 
"𝑤ℎ𝑎𝑡 𝑛𝑢𝑚𝑏𝑒𝑟 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑒𝑑 𝑏𝑦 𝑖𝑡𝑠𝑒𝑙𝑓 3 𝑡𝑖𝑚𝑒𝑠 𝑒𝑞𝑢𝑎𝑙𝑠 64 

b) √625 
4

 → 
"𝑤ℎ𝑎𝑡 𝑛𝑢𝑚𝑏𝑒𝑟 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑒𝑑 𝑏𝑦 𝑖𝑡𝑠𝑒𝑙𝑓 4 𝑡𝑖𝑚𝑒𝑠 𝑒𝑞𝑢𝑎𝑙𝑠 625 

c) √32 
5

 → 
"𝑤ℎ𝑎𝑡 𝑛𝑢𝑚𝑏𝑒𝑟 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑒𝑑 𝑏𝑦 𝑖𝑡𝑠𝑒𝑙𝑓 5 𝑡𝑖𝑚𝑒𝑠 𝑒𝑞𝑢𝑎𝑙𝑠 32 

 

 

Note: √72 
2

≠  √72 
3

≠  √72 
5

  

Is the radicand a perfect square or perfect cube or etc.? 

5)  √72 =  √72
2

= √36 ∙ 2 = 6√2  

8) √27 =  √3 ∙ 3 ∙ 3 =√32 ∙ 3 = 3√3 

 

15) 2√20 + 3√5 = 

2√4 ∙ 5 = 2√4√5 = 4√5 

 

4√5 + 3√5 =  7√5  

 

12) 3√5 ∙ 2√10 = 6√50  



6√2 ∙ 25 = 6 ∙ 5√2 = 30√2 

 

𝑎√𝑏 ∙ 𝑐√𝑑 = 𝑎𝑐√𝑏𝑑  

𝑎√𝑏 + 𝑐√𝑑 = 𝑐𝑎𝑛𝑛𝑜𝑡 𝑏𝑒 𝑐𝑜𝑚𝑏𝑖𝑛𝑒𝑑 𝑢𝑛𝑙𝑒𝑠𝑠 𝑦𝑜𝑢 𝑐𝑎𝑛 

Simplify either √𝑏 or √𝑑  

 

3√24 + 5√6 = 

3√4√6 = 6√6 

6√6 + 5√6 = 11√6 


